W= Z2IE DIN 71802
&= MI/HIE ol0|x]

oY
THE
AEI = AEQIHA AR 1.4305
EH O[22
otd =3 X I|ARXE|. S-IF AL AR HE.
e
2ILIAIE %4 D2& o|0|gtLCt.
N
H:
Dhg o Higp
DIN 71805
ElQlC L Et2l CS
ot 22 ot / % Z ot 27 ol
_ H— &g ——
o Vb
—_—
E
oy L |
-
| \
A
D4
78° 18°
Z= Q0
A= ZEOIE DIN 71802
FEHS HZH 2 EFQJ 2 & D1 D2 D3 D4 A L2 L3 E SW
K0734.0805 QEZZEIO| LIA C AEl 8 M5 8 M5 22 102 9 102 7
K0734.1006 LEZEZEO| LIA C AEl 10 M6 10 M6 25 125 11 115 8
K0734.1308 QELEO| LA C 2AEl 13 M8 13 M8 30 165 13 14 11
K0734.1610 QEETO| LA C AEl 16 M10 16 M10 35 20 16 155 13
K0734.1612 QELTO| LA C 2El 16 M12 16 M12 3 20 16 155 13
K0734.1914 QELEO| LA C AEl 19 M14x1,5 22 M14x1,5 45 28 20 215 16
K0734.1916 QLEETO| LA C AEl 19 M16 22 M16 45 28 20 215 16
K0734.080501 RIEZ0| LEAL C AE 8 M5 8 M5 22 102 9 102 7
K0734.100601 2l&%o| LEAL C AEl 10 M6 10 M6 25 125 11 115 8
K0734.130801 2l&zho| LEA C AEl 13 M8 13 M8 30 165 13 14 11
K0734.161001 2l&Zo| LEAL C 2 El 16 M10 16 M10 3 20 16 155 13
K0734.161201 ._It’”OILW C AEl 16 M12 16 M12 3 20 16 155 13
K0734.191401 & 0| LEAL C AEl 19 M14x1,5 22 M14x15 45 28 20 215 16
K0734.191601 %ICQOILW C AR 19 M16 22 M16 45 28 20 215 16
K0734.080351 QELEO| LA cs AEl 8 M3,5 8 M4 18 102 9 8 7
K0734.08051 QEETO| LA cs AE 8 M5 8 M5 22 102 9 102 7
K0734.10061 QLEETO| LA Cs AE 10 M6 10 M6 25 125 11 115 8
K0734.13081 QELEO| LA cs AEl 13 M8 13 M8 30 165 13 14 11
K0734.16101 SEEZEO| LIA cs AEl 16 M10 16 M10 3 20 16 155 13
K0734.16121 QELTO| LIAF cs 2El 16 M12 16 M12 3 20 16 155 13
K0734.19141 QELEO| LA cs AEl 19 M14x1,5 22 M14x1,5 45 28 20 215 16
K0734.19161 QEETO| LA cs AEl 19 M16 22 M16 45 28 20 215 16
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  1/2



°

=1 XOIE DIN 71802

EZS 29

FEHS H™ 2 EFQJ 2 A D1 D2 D3 D4 A L2 L3 E SW
K0734.080511 2l&ZHo] LEAL CS AE 8 M5 8 M5 22 102 9 102 7
K0734.100611 2l&%o| LEAL cs AEl 10 M6 10 M6 25 125 11 115 8
K0734.130811 2I&F 0| LEA CS AE 13 M8 13 M8 30 16,5 13 14 11
K0734.161011 2l 0| LEAL cs 2El 16 M10 16 M10 3 20 16 155 13
K0734.161211 2l&Zto| LEAL cs AEl 16 M12 16 M12 3 20 16 155 13
K0734.191411 2I&F 0| LEA CS AE 19 M14x1,5 22 M14x1,5 45 28 20 215 16
K0734.191611 RI&Z0| LEAL CS AE 19 M16 22 M16 45 28 20 215 16
K0734.08052 QELEO| LA CS AEQIHA AE 8 M5 8 M5 22 102 9 102 7
K0734.10062 QEETO| LIA Cs AHQIPA AR 10 M6 10 M6 25 125 11 11,5 8
K0734.13082 QELEEO| LIA CS AEQIPA AR 13 M8 13 M8 30 16,5 13 14 11
K0734.16102 QELEO| LIAF CSs AEQIFA AE 16 M10 16 M10 3 20 16 155 13
K0734.16122 QEETO| LIA CcS AHQIYA AR 16 M12 16 M12 35 20 16 155 13
K0734.080521 2l&Zo| LEAL CS AHQIPA AR 8 M5 8 M5 22 102 9 102 7
K0734.100621 2l&zo| LEAL CSs AEQIFA AE 10 M6 10 M6 25 125 11 115 8
K0734.130821 2l&zho| LEA CS AEQIFA AE 13 M8 13 M8 30 16,5 13 14 11
K0734.161021 2I&Zo| LEAL CS AHQIPA AR 16 M10 16 M10 3 20 16 155 13
K0734.161221 2l&zo| LEAL CS AEQIFA AE 16 M12 16 M12 3 20 16 155 13
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



